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07/08/24 me01igrt60457_35.ppp_defaut−95d−15_X−stp

1

Following steps removed:

60466.50521 : Step 1 −148500 ns

2

60466.50868 : Step 2 −174400 ns

3

60466.51215 : Step 3 −173700 ns

4

60466.51563 : Step 4 826100 ns

5
60466.51910 : Step 5 −173000 ns6
60466.52257 : Step 6 −174400 ns

7

60466.52778 : Step 7 17900 ns

8

60471.31771 : Step 8 −229500 ns

9

60471.32118 : Step 9 −171800 ns

10

60471.32465 : Step 10 828000 ns

11

12

13

14

15
16
17

1819

20

21

22
23

24
25
2627

28

301 s: Mdev= 0.46156E−11 Tdev= 802 ps
602 s: Mdev= 0.32064E−11 Tdev= 1114 ps
1204 s: Mdev= 0.20455E−11 Tdev= 1422 ps
2408 s: Mdev= 0.13821E−11 Tdev= 1922 ps
4816 s: Mdev= 0.10339E−11 Tdev= 2875 ps
9632 s: Mdev= 0.83909E−12 Tdev= 4666 ps
19263 s: Mdev= 0.48090E−12 Tdev= 5348 ps
38527 s: Mdev= 0.27808E−12 Tdev= 6186 ps
77054 s: Mdev= 0.18232E−12 Tdev= 8111 ps
154108 s: Mdev= 0.12073E−12 Tdev= 10742 ps
308215 s: Mdev= 0.98657E−13 Tdev= 17556 ps
616431 s: Mdev= 0.67886E−13 Tdev= 24160 ps
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